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NOTE: - Write same question number -4.6»‘):;.{4')’,&5‘.{ b))ﬁ})ZJ”/‘./ tJ"’ U"{Q(‘}L’z -

and its part number on answer book, as given in the question paper.

SECTION-l Jsto
10=2x5

TIME ALLOWED: 1.45 Hours SUBJECTIVE _Zlile

MAXIMUM MARKS: 48

L fevlinbie$S 2
EsHEET W
B I VL 2 AT B\ LT SR ()

2. Attempt any five parts.

(i) Define Organic Chemistry.

(i) Write down the chemical formula of Silicon dioxide and
Calcium Chloride.

Lo BT ey i
S Qe n ASG N et Ul e L LSl M et Ut (55 AdD Cs e (W)

(iv)  Why Cesium (at. No.55) requires little energy to release its one electron present in the outermost shell?

(v)  Apatient has goiter. How will it be detected? Ly LA :ﬂ{' e IR W)

(Vi) Where does most of the mass of an atom exist? St SbUU LB (Vi)

(vii)  Define Shielding Effect. Sy /'{j S LU_EAE (vl

(vii)  What is Atomic Radius? Give example. &l ?+rngu?.§ ey .(viii)

Efez Lz 8 340
_E A e s Jieks )

(iii) Write down the electronic configuration of CI'1 ion.

3. Attempt any five parts. 10=2x5

(i) Define the Duplet Rule and Octet Rule.

(i) Write down two properties of Covalent Compounds.

(iii)
(iv)

Define Triple Covalent Bond and give an example.
Why does Ice float on water?

& felendiisdekd (i)
E SSORE SRS TR TS SN (1)
e dudydpds W)

(v)  Define Diffusion and Effusion. S8 Uit i (V)
(vi)  Define Charles's Law. - AT Gﬁtf/.‘g (vi)
(vii)  What is meant by Boiling Point? e ety By (vii)
(vii) Define Crystalline Solid. SRS i

- jep Lk 8 a0y
eV ()

Se sl e % viv (ii)

_E S T Ly i)
&".)'/([:.UL ;J:/'g LPb (iv)

EAK W

_E oSSR W)

S e S L /D (i
te_dnudolic WEAFELTE S (i)

4. Attempt any five parts.

(i) What is Solution?

(i) What is meant by v/iv %?

(i) Define Oxidation in terms of Electrons.
(iv)  What is meant by Strong Electrolytes?
(v) Define Electrolysis.

10=2x5

(vi)  Write any two physical properties of Metals.

(vii)  What is meant by Electropositivity or Metallic Character?

(viii)  Why the Second Ionvization Energy of Magnesium is higher than
the first one?

SECTION-II 2
NOTE: - Attempt any two questions.

-g‘,’;./ f:«&lxﬁamfucéf -z

5.(A) Write down five differences between Compound and Mixture. 5 -,,q‘:ukt}/'é/kd&‘ﬂéﬁg"}ﬁ;{ (-5
(B) State any four properties of Canal Rays. 4 -égfay:"zktf G!{JZJJ"&/ (&)
5 ‘-UZJM}I}‘}!/U:[{;«yyjdﬁb&ﬁﬂ;ﬁ//}:«fgy U;Jc«l{u’l -é..g/’g{jﬁkfuﬁﬂ (-6

6.(A) Define Hydrogen Bonding. Explain that how these forces affect the physical properties of compounds?

(B) Define Boyle's Law. Give its experimental verification. 4 -u,/uy.&f,uﬁdg fc,(u' I -é;“(-if/.’.\fujﬁ'é«f (&)
7.(A) Define Solubility. 5 S bailiI g, )‘/aﬂﬂ |l sy xly _Ew S5 (N7

How solute, solvent interaction effect on it?

-..é../ flf 1 Laé— (jfé L}‘-ﬁ);’( (...a)
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(B) Write any four characteristics of Galvanic Cell. 4
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TIME ALLOWED: 1.45 Hours

MAXIMUM MARKS: 48

| NOTE: - Write same question number

and its part number on answer book, as given in the question paper.
SECTION- Jslo

2. Attempt any five parts. 10=2x5 i linbie 8 240y
(i) Distinguish between Physical Chemistry and Biochemistry. -Z’:/ iu/u" d/’);ld)’d//( Jé 7 0]
(i) How does Homogeneous Mixture differ from ‘-’u}ﬁa(_ /»v{ 4}/ /:[w-"“‘; /gul/:[u’f’ vy (i)
Heterogeneous Mixture?
(i)  Write two properties of Cathode Rays. NGy S T O S ()
(iv)  State John Dalton's Atomic Theory. -l ei&jﬂ!}u&g (iv)
(v) How is Goiter in Thyroid Glands detected? ?c;..t't_ag@c{zqf/‘"‘f uﬁiﬁ*f ‘»’uét} (v)
(vi)  What are Triads? Give an example. e ?q;lﬁé!&/' (vi)
(vii)  Define Shielding Effect. LSy S BE (vil)
(viil)  State Mendeleev's Periodic Law. -:fub ;U./}Lﬁb’J,‘c»‘ (viii)

3. Attempt any five parts. 10=2x5 -c{{/’..«&l‘?ﬁl%ét:.éf 234y
(i) Why does Ice float on water? ‘“gd/uy’//dtu/ (i)
(iy  Why do atoms react with each other? Ut LSSl AT (i)
(i) lonic compounds are solid. Justify. AP Y -ug&xu?“)ﬁig{_fff (iii)
(iv)  Metals are good conductor of Electricity. Why? s -t Ln;‘}@fyé&'ﬁ/‘? 1A (iv)
(v)  What are Amorphous Solids? ‘.‘q.?gﬁj:;'gf;r:i (v)
(v  Define Melting Point. ~Eflesy B Wi
(vii)  What do you mean by Allotropy? Explain with example. ~E el Ji S Yot (vi)
(vii)  What is Diffusion? Explain with example. -“é 5 e JEs ?c‘.gui':éi (viii)

4. Attempt any five parts.

10=2x5

- fe Lty a4y

(i)  How is prepared 1M(Molar) solution of NaOH? e bl UF T s ()M (i)
(ii) Define Solubility. Give one example. -é:dt‘«.@mgf..@ }U @J";’r (ii)
(i) ~ What is Galvanic Cell? Give one example. ~&oa et te_tmlf KL W i)
(v)  Whatis Salt Bridge? e (iv)
(v)  What s the difference between Corrosion and Rusting? -u:’{}/'ui' By i in S (v)
(vi)  Write two uses of Magnesium. -M&U‘v‘p'véﬁ’&:& (vi)
(Vi) Write two properties of Platinum. ol i)
(viii)  Why is HF a weak acid? e ud AL HF (i)

SECTION-Il (5.2

NOTE: - Attempt any two questions.

Define Molecular Formula 5

-g,-’:{ ;@Qméaﬂln:c-éf ROY

Eeolse U et FUUnL o i v fginr s/l ()5

and Empirical Formula. What is relationship found between them? Explain with examples.

(B) Describe Rutherford's Atomic Model with the help of diagram. 4 ~SEUkJiLY $dmic s (&)
6.(A) Define Covalent Bond. 5 —E ool YIS ek gy Sk asd (D26

Describe types of Covalent Bond with examples.
(B) Define Evaporation. Explain the factors affecting

4 EUS L0 i S gE Sy (L)

the rate of evaporation.

7.(A) Discuss the effect of temperature on solubility. 5 ~ges ol f;/;“;dﬁ&}‘r (.7
(B) Describe the Electrolysis of Water in detail. 4 ~Euke JETAPEE (D)

23-2016(A)-55000 (MULTAN)
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TIME ALLOWED: 15 Minutes OBJECTIVE (532 e 15 = =y
MAXIMUM MARKS: 12 12= AF

fe o | S OWE e RUNE & s g 36017 -t Es D 4 C B A ALy LS
VI bbb A8 Lo Si Sii Bubbles G izadlifbemmSi Sl Sk | LS stmlie g s
Note: You have four choices for each objective type question as A, B, C and D. -q/;d’ﬂ},-omr{.“.gw
The choice which you think is correct, fill that circle in front of that question number. Use marker or pen
to fill the circles. Cutting or filling two or more circles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded

in case BUBBLES are not filled.
Q.No.1

(1) element is found in most abundance in the earth's crust.

(A) Oxygen & 1
(2) The molar mass of HZSO4 is:-

(B) Aluminium (53!

(A) 98¢ (B) 98 amu
(3) ____ shell consists of three sub shells.

(A) © (B) N
(4) _____ halogen has lowest electronegativity.

(A) Fluorine /. (B) Chlorine /%
(5) 4th and 5th period of the long form of Periodic Table
are called:- (A) Short periods izl

(C) Long periods £ zfY

(6) CZH2 molecule have _____ covalent bonds.
(A) Two 13 (B) Three ¢

(7) ____is an electrons deficient molecule.
(A) NH3 (B) BFj

Do not solve question on this sheet of OBJECTIVE PAPER.

-1 A

e bllmbie ar AP
(C) Silicon Y& (D) Iron @7

- U\¥ HyS0,

(C)98g (D) 9.8 amu
7 S0 S
©L (D) M
el B

(C) Bromine s
B aUE gz,ltigutﬁ)ﬁftfﬁﬂwd?(/(sﬁ

(D) lodine ¢/3¢7

(B) Normal periods 4zt
(D) Very long periods 4 a9z
et bkl UK CH,
(D) Five &
-‘adteéw’@,}?w:dz?té —

(D) O,

(C) Four .k

C)N,

(1)

@)

®3)

)

(®)

(6)

%

e b Y I TS ARGy AR Q)
(C)gdm=  (D)kgdm™

(8) Gases are the lightest form of matter and their
densties are expressed in terms of:- (A) mg cm™3 B)g cm™

(9) Mist is an example of solution. e el s (9)
(A) Liquid in gas ZLUtu? (B) Gas in liquid UPUtCL  (C) Solid in gas u¥Liu? (D) Gas in solid U2ut ¥
e (10)
(B) Sulphuric acid solution /*§42 s (C) Lime solution **¥2.% (D) Sodium Chloride solution u")’(fgflugﬁr

e O U e s - b L St B LR (1)

prepare Caustic Soda along with gases.

(10) is not an electrolyte. (A) Sugar solution JFK/?’}

(11) Nelson's cell is used to

of the following gas is produced at Cathode.

(A) Cl, (B) H, (C) Oy (D) O,

(12) Metals can form ions carrying charges:- -q;dtz@&ﬂbd’f A (12)
(A) Uni-positive %0y  (B) Di-positive #itdi5  (C) Tri-positive s3LdL (D) All of these (12

21(Obj)( ¥)-2016(A)-65000 (MULTAN)
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TIME ALLOWED: 15 Minutes OBJECTIVE 0'5/".0 e 15 = =y
MAXIMUM MARKS: 12 12= AF

S o .L,u):t:iﬂ:}“’&lﬁ*ﬁ..,m:f»;gﬁu;sz’ﬁé:&b&db’ﬁ{qwb‘! ..u.?é{,: D CB:A aybt,:fzkd:dlrﬁ -9
S Ko A e SESoi Bubbles - Krstu rond eSS Sk | LSl imlie ki s
LS ety gdy

The choice which you think is correct, fill that circle in front of that question number. Use marker or pen

Note: You have four choices for each objective type question as A, B, C and D.

to fill the circles. Cutting or filling two or more circles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
M element is found in most abundance in the earth crust. -;.t’(g.l,go)g)c,*fgﬂgﬂlifm (1)
(A) Oxygen u-"'ff (B) Aluminium {4'&/;1:.' (C) Silicon &k (D) fron w7

(2) Mass of a Proton is:- e 0410175 (2)

(A) 1.0073 amu (B) 1.0087 amu (C) 5.486 x 10%amu (D) 6.486 amu

AL . ©)

(3) shell consists of three sub shells.
(A) O (B) N ©) L by ™M

(4) The highest electronegative element is:-

< M!;‘#g/‘g‘u&}c,q/ (4)

(A) Fluorine ¢ (B) Chlorine Q‘/:b/ (C) Bromine s (D) lodine ¢3¢ T

(5) Mendeleev's Periodic Table was based upon the:-
(A) Electronic configuration ﬁﬁf vfs/-g!

(C) Atomic number Lt/

S F eSS
(B) Atomic mass (k!

(D) Completion of sub shell tm)‘[ Ko

®)

(6) Compound ____is not soluble in water. -;-J-‘{/Jg.py u:&g%gf (6)
(A) CgHg (B) NaCl (C) KBr (D) MgCl,

(7) ___is an electrons deficient molecule. -c“—al,aékur RO 'uﬁd{? L (7)
(A) NHj (B) BF3 (C)N, (D) O,

(8) ____is not Amorphous solid. e A (@)
(A) Rubber % (B) Plastic G (C) Glass ¥ (D) Glucose ¥

(9) _____ will show negligible effect of temperature on its solubility. ol KZ-/.,;{&:‘“’}’YJ - (9)
(A) KCI (B) KNO, (C) NaNOj (D) NaCl

(10) The oxidation number of Nitrogen in HNO5 is:- - AT R A HNO5;  (10)
(A +4 B) +5 (C) +6 (D) +7

(11) The oxidation number of all elements in free state is:- _g_.ty:/f;u:'g.‘g_/'/ ¢ J“&l(l'/'ui’&b;lﬂ (11)
(A) Zero 3 (B) One i (C) Two » (D) Three (&

(12) The most reactive metal is:- -§.J’:£'ﬁ/ IS\ or (12)
(A) Na (B) Li (C)Cs (D) Ca

23(0bj)( *)-201 6(A)-55000 (MULTAN)
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2016 (A) A

SSC-PART-l (9th CLASS)
CHEMISTRY GROUP-| (SESSION 2012-2014) - J/
TIME ALLOWED: 2.45 Hours SUBJECTIVE /Lo é 245 =
MAXIMUM MARKS: 63 63 = /?J

NOTE: - Write same question number -%Gj)uﬁa?,/v.j’r,@g‘; Zw/t":'ZAl/,‘Ulfo?;{Q K(}L»? Oy
and its part number on answer book, as given in the question paper.
SECTION- il.o

2. Attempt any five parts. 10=2x5 ey /uu,»’[.l]lf/tc.df 24y
() What is the difference between Organic Chemistry and Vc_ufl/u‘d/ .,Cf'ltuwld/ LT (i)
Inorganic Chemistry?

(i) Define Gram Molecular Mass. -5 - /’d/u L/rol.(!/ (i)
(ii)  Define Free Radicals with examples. -é:d{ u‘} Lm'é..v /Jﬂud/ (iii)
(iv)  Write down the electronic configuration of 4¢*. -u‘fﬁu’ /af fs /5' J A0 (iv)
(v)  Whatis the use of Isotope of lodine (/-131)? e JIUY (1-131) u;y 7T W)
(vi)  Write down the Isotopes of Hydrogen. -é/ﬁf :’/ T u’ Xy (Vi)
(vii) How Dobereiner arranged the elements in triads? o7l /’J( u"J,yd!// "l Aluss (vii)
(viii) Define periods and groups of Modern Periodic Table. -gf:( u“’) /M/ Ny slik /dedjm,w (viii)
3. Attempt any six parts. 12=2x6 -Zf//LUiélﬂic,df 2340y

(i)  Define Electron Affinity. -iw /’J qu ut/ﬂl (i)
(i)  Why does Ice float on liquid water? ?c‘-d; ur.';:lﬁdg dtu/. (ii)
(i) What do you know about Triple Covalent -Gl SrE U Tt AL S sl f 2 i)

Bond? Give one example.

(iv) Whatis meant by "Duplet rule" and "Octet rule"?  Sesi e Ju e Jueds” (i)
(v)  Write a short note on diffusion of gases. -5/ i:./!]/jg/u}}jiﬁd/ / (V)
(vi)  Write mathematical expression of Charles's Law. -é/ic,.nf /"‘dufuibl.du (vi)
(vii) Briefly describe the effect of intermolecular forces on -Z: ubb‘;/l(//:’)rat /-l/u" uyedl (Vi)
evaporation.
(viii) Write formula used for the calculation of -ﬁé{/lmtsniiﬂ,@{{ ( % 3) éﬁ - C:Q (viii)
volume v O
percentage - —— ( % - )
volume v
(ix) Define Solute. Give one example. -ci.;u‘{ t}'.f Zf o /Uuﬂr (ix)
4. Attempt any five parts. 10=2x5 -Z//VLL?L!/I@L:_G/ a4y
(i)  Define Dilute Solution. SSEy /’u(u‘)’ L5 ()
(i)  Define Concentration of Solution. -“é.,y /U/J}Ul‘/ / (ii)
(i) Define Reduction. | E5H i
(iv) Calculate the oxidation number of "CI" in KCIO5. -é’&/ﬁgf ¥ "ClI" U& KCIO5  (iv)
(v)  Define Oxidizing Agent. | EengnsT ()
(vi)  Define Electrochemical Cell. -c‘f.d/UJ’ J{"f /ﬁ, (vi)
(vii) Write down two chemical properties of Metals. czg_,w’ dl/»g,()’“ (vii)
(viii) Write down the relationship between Wy /u“u‘dxlu’/tr " s (i

Electropositivity and lonization Energy.

IR




CH

TIME ALLOWED: 2.45 Hours

2016 (A)

SSC PART-l (9th CLASS)

%
EMISTRY GROUP-II

MAXIMUM MARKS: 63

NOTE: - Write same question number -4.@1)&%.4.;")’,&9{ 6/)/&21:’/&)’:’&:4&((}’3

and its part number on answer book, as given in the question paper.

SECTION-I sl

2. Attempt any five parts.

(vi)
(vii)

(viii)

3. Attempt any six parts.

(i)
(i)
(iii)
(iv)
(v)
(vi)
(vii)

(viii)

(ix)

4. Attempt any five parts.

(i)
(i)
(iii)
(iv)
(v)
(vi)
(vii)

(viii)

(SESSION 2012-2014) b - g/
SUBJECTIVE ¥l #o45 =
63 =

Wirite the symbols of Sodium and Magnesium.

Describe the difference between Atomic Number and

Mass Number.

Define Compound.

Write Electronic Configuration of Carbon.
Which observations were made by Rutherford
from Gold foil experiment?

Write the use of Isotopes in Power Generation.
Describe Newlands Octaves.

How many number of periods and groups are

present in Long form of Periodic Table?

What is meant by Shielding Effect?
Differentiate between Duplet and Octet rule.
Define lonic Bond.

Why Metals are good conductor of Electricity?
Define Effusion with éxample.

Define Melting Point.

Define Amorphous Solids.

What are Unsaturated Solutions?

Define Solubility.

Define Colloid.
Why do we stir paints thoroughly before using?

Define Electrochemistry.

10=2x5

12=2x6
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What is an Oxidizing Agent? S WAL T

What is the difference between Valency and Oxidation state? ‘-’q- J/&fui_‘fc’“u%f Tl u’u‘,

Why is O, necessary for rusting? e S 0 O, LLI G

Write two uses of Sodium. -uf’gauﬁ"»égﬂr

Why is Copper used for making Electrical Wires? ?c‘_t@wwu,{{(g.éé,wm{ ‘f
(&1 3s)
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(i)
(ii)

(iif)
(iv)
(v)

(Vi)
(vii)

(viii)

Eiferlinge 8 30y

(i)
(ii)
(iii)
(iv)
(v)
(vi)

(vii)
(vii)

(ix)
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(vii)
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MAXIMUM MARKS: 12 12= AF
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Note: You have four choices for each objective type question as A, B, C and D. -u,‘/:uf 7;:@“‘74‘34»;“”

The choice which you think is correct, fill that circle in front of that question number. Use marker or pen

to fill the circles. Cutting or filling two or more circles will result in zero mark in that question. Attempt as

many questions as given in objective type question paper and leave others blank. No credit will be awarded

in case BUBBLES are not filled. Do not soive question on this sheet of OBJECTIVE PAPER.

Q.No.1

(1) The molar mass of H,SO, is:-

A Ay

—cULE HyS0, (1)

(A)98 g (B) 98 amu (C)s.8g (D) 9.8 amu

(2) The most abundant element occurring in the Ocean is:- -;.MU';LL;Q»QJ;*/JJN 2)
(A) Oxygen I T (C) Nitrogen (54t

(3) discovered Neutron.

(B) Hydrogen (/.47 (D) Silicon w4
Yealnd B (3)
(C) Max Plancks Jiu"? (D) J.J. Thomson ¥ z—-z—

WOl (&)

(A) Rutherford 3,95,  (B) Chadwick 34

- (4) Mendeleev's Periodic Table was based upon the:- -0'2
(A) Electronic configuration J%,E"{f,;?’
(C) Atomic number ALt

(B) Atomic mass L4t
(D) Completion of a subshell tﬂﬂg}f‘q

(5) Long form of Periodic Table is based upon:-
(A) Mendeleev's Postulates J»i5_sir
(C) Atomic number ~_(tI

(6) is an electrons deficient molecule.

eSS aSTE)  (5)

(B) Atomic mass (L Lt
(D) Mass number /."u'l.

- BedidEn Bl

(6)

(A) NH3 (B) BF3 ©) N2 (D) 02

(7) Triple Covalent Bond involves ____ electrons. -u,r%wu!/*? Y -V &M”Qf' (7)
(A) Eight 27 (B) Four b (©) Six £ (D) Only three £i”

(8) ____is not Amorphous solid. -§—u~"(ZJ'}Lf;ﬁ’ - (8)
(A) Rubber 2. (B) Plastic ..«@1{5 (C) Glass ¥ (D) Glucose J:g’{

(9) ___solution contains more water. -§-t‘ﬂu&)(3&uﬁcf!" N )}
(A) 2M B) 1M (C) 0.5M (D) 0.25M

(10) Spontaneous chemical reaction takes piace in:- bt SEGSLL L aliniin (10)
(A) Electrolytic Cell Fu@s¢1  (B) Galvanic Cell F£1%”  (C) Nelson's Cell U5 (D) Downs Cell F3513

(11) Formation of water from Hydrogen and Oxygen is _4‘_‘;,2{ S A 1 dgc_u’{ Tlfoskey (1)

chemical reaction.
(A) Redox /L.
(12)

(A) Sodium (£3s (B) Calcium £%

(B) Acid-base JLI-—IZ (C) Neutralization ¢ut¢

metal gives Golden yellow flame on burning in air.

(D) Decomposition Nl

(C) Magnesium £~ (D) Iron @7

-Gk () ety it

(12)
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MAXIMUM MARKS: 12 12= A4S

A ch | I3 L Nrcrne AL Ese L v ydb3i7 - LEs D 5 C B A M2l ldry  -2d
S Ko A8 S Sof Bubbles st zesd fanm S S Suk | LS imtie okl s
Note: You have four choices for each objective type question as A, B, C and D. -‘,[f;d’);"aﬂ'x{.g{,élf
The choice which you think is correct, fill that circle in front of that question number. Use marker or pen
to fill the circles. Cutting or filling two or more circles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 1 /:Uly

(1) The molar mass of H,SO,, is:- —cULE HySO, (1
(A)o8 g (B) 98 amu (C)9.8g (D) 9.8 amu

(2) The symbol of Barium is:- -c‘—f 1y (2)
(A)Ba (B) Bi (C) Br DB

(3) The concept of Atom's Orbit was given by:-  (A) J.J Thomson i ¥z -2 YT T 3
(B) Rutherford &3/ (C) Neil Bohr & 45 (D) Max Plancks Lu’ﬁu’?

(4) The vertical columns in the Periodic Table are called:- - Z—WW»‘U:&M% (@)
(A) Periods 4z (B) Groups 41/ (C) Rows /A5 (D) Blocks

(5) The atomic number of Potassium is:- -?—ﬁ} o1 e'(f”ﬁv{-’ ()
(A) 11 (B) 15 (C) 18 (D) 19

(6) Octet Rule is:- e a7 6)

(A) Description of eight electrons =>ls(§%3 28147  (B) Picture of electronic configuration f&ﬂ/ﬁfvﬁf'g’

(C) Pattern of electronic configuration Ju‘l(u‘i/@:ﬁ /1 (D) Attaining of eight electrons W Al

(7) _____is an electrons deficient molecule. ' -4—3‘98&‘[ Y ‘U:dzg" - ()
(A) NHgy (B) BFg (C)N, o (D) Oy

(8) ______gas diffuses fastest. | *%8/ 5{""“54’-'(5'/.:1}{ - (8)
(A) Hydrogen uzuﬁﬂ (B) Helium f’:‘”/‘ (C) Chilorine u{/}g (D) Fluorine c[u’:’

(9) Tyndall effect is due to:- - eTy) (9)

(A) Non scattering of beam of light . § L2 5L UFd$5,  (B) Blockage of beam of light e (&L U b2d($s
(C) Scattering of beam of light c..xJé,w/":'” g4 uﬁd/(f'u (D) Passing through beam of light c,g,JLJfé:uf AN
(10) Nelson's cell is used to - Chselig g 3920 e ALt -g.-tgwwflg.LLLgtsy.,WivLuJJfJ‘-’ (10)

prepare Caustic Soda along with gases. Among these ____ gas is produced at Cathode.
(A) Cly (B) Hy | (C) O3 (D) O,
(11) The oxidation number of Chromium in K,Cr,0 is:- -t AR Wf'{’/d: K,Cr,0, (1)
(A) +2 (B) +6 (C) +14 (D) +7
(12) ___metal is more malleable. -« U%).UJ;: S V)
(A) Sodium (35 (B) Iron g7 (C) Gold t» (D) Silver sk

23(0bj)( W)-2016(A)- |© 50D (MULTAN)
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